Document: Emergency Rule, **Register Page Number:** 29 IR 1953

Source: March 1, 2006, Indiana Register, Volume 29, Number 6

Disclaimer: This document was created from the files used to produce the official CD-ROM Indiana Register.

TITLE 65 STATE LOTTERY COMMISSION

LSA Document #06-62(E)

DIGEST

Temporarily adds rules concerning scratch-off game number 800. Effective February 3, 2006.

SECTION 1. The name of the scratch-off game is "Scratch-Off Game Number 800, \$1,000,000 Silver Spectacular".

SECTION 2. Scratch-off tickets in scratch-off game number 800 shall sell for twenty dollars (\$20) per ticket.

SECTION 3. Play symbols: A scratch-off ticket in "Scratch-Off Ticket Game Number 800, \$1,000,000 Silver Spectacular" shall contain a total of thirty-one (31) play symbols and twenty (20) prize symbols within four (4) independent games labeled "GAME 1", "GAME 2", "GAME 3", and "GAME 4". Game 1 includes two (2) play symbols in area labeled "GAME 1" and one (1) prize symbol in area labeled "PRIZE". Game 2 includes eight (8) play symbols and eight (8) prize symbols in a matrix of two (2) columns labeled "GAME 2". Game 3 includes nine (9) play symbols in a matrix of three (3) rows and three (3) columns and one (1) prize symbol in area labeled "GAME 3" and "PRIZE". Game 4 includes two (2) play spots in area labeled "LUCKY NUMBERS" and ten (10) play symbols and ten (10) prize symbols in area labeled "YOUR NUMBERS" and listed under area labeled "GAME 4". The play symbol captions that appear in scratch-off game number 800 shall consist of the following possible play symbols and play symbol captions:

Play Symbols:

GAME 1











GAME 2 Play Symbols:



GAME 3 Play Symbols:







GAME 4 LUCKY NUMBERS Play Symbols:

	2 TWO								
11	12	13	14	15	16	17	18	19	20

ELV	TLV	TRN	FRN	FTN	SXT	SVT	ETN	NTN	TWY
YOUR NUM	BERS Play	Symbols:							
1 ONE	2 TWO	3 THR	4 FOR	5 FIV	6 SIX	7 SVN	8 EGT	9 NIN	10 TEN
11	12	13	14	15	16	17	18	19	20
ELV	TLV	TRN	FRN	FTN	SXT	SVT	ETN	NTN	TWY

SECTION 4. Prize symbols: Game 1 shall contain one (1) prize symbol in the area labeled "PRIZE". Game 2 shall contain eight (8) prize symbols in a matrix of two (2) columns and four (4) rows located directly under each represented play symbol. Game 3 shall contain one (1) prize symbol in area labeled "PRIZE". Game 4 shall contain ten (10) prize symbols in area labeled "YOUR NUMBERS", located directly under each represented play symbol. The prize symbol captions that appear in scratch-off game number 800 shall consist of the following possible prize symbols and prize symbol captions:

GAME 1 – GAME 4 PRIZE Symbols:

\$5.00	\$10.00	\$20.00	\$25.00	\$40.00	\$50.00	\$100
FIVE	TEN	THENTY	THY FIVE	FORTY	FIFTY	DNE HUN
\$200	\$500	\$1.000	\$10,000	\$50,000	\$100,000	\$1,000,000
TWO HUN	FIVE HUN	DNE THOU	TEN THOU	FTY THOU	HUN THOU	ONE HIL

SECTION 5. Retailer validation codes: The retailer validation code verifies instant winners of "\$20", "\$25", "\$40", "\$50", "\$100", "\$200", and "\$500". The retailer validation code which corresponds with and verifies each of these winners is as follows:

\$20 = TWY

\$25 = TWF

\$40 = FRY

\$50 = FTY

\$100 = HUN

\$200 = TWH

\$500 = FHN

SECTION 6. How to win: (a) A prize winner in "Scratch-Off Game Number 800, \$1,000,000 Silver Spectacular" is determined by removing the entire scratch-off material from the game play data area of the ticket to reveal thirty-one (31) play symbols and twenty-one (21) prize symbols within four (4) independent games labeled "GAME 1", "GAME 2", "GAME 3", and "GAME 4". Neither the retailer validation code (nor any portion thereof), the pack-ticket number (or any portion thereof), nor the validation number (or any portion thereof) are play symbols or prize symbols and are not usable or playable as such.

- (b) In Game 1, if two (2) identical symbols are revealed, the holder is entitled to the prize indicated in this game.
- (c) In Game 2, if the " symbol is revealed, the holder is entitled to win the prize shown for that symbol.
- (d) In Game 3, if three (3) " symbols are revealed in any row, column, or diagonal, the holder is entitled to win the prize shown.
- (e) In Game 4, if the holder matches any of "YOUR NUMBERS" to either "LUCKY NUMBERS", the holder is entitled to win the prize shown for that number.

SECTION 7. Prize structure: The possible winning prize combinations are as follows:

Get	Prize Amount	Estimated Number of Prizes in Game*
1 - \$10 + 1 - \$10	\$20 (twenty dollars)	240,000 prizes
1 - \$20	\$20 (twenty dollars)	240,000 prizes
1 - \$5 + 2 - \$10	\$25 (twenty-five dollars)	120,000 prizes
1 - \$25	\$25 (twenty-five dollars)	120,000 prizes
2 - \$5 + 3 - \$10	\$40 (forty dollars)	60,000 prizes
3 - \$10 + 1 - \$10	\$40 (forty dollars)	30,000 prizes
1 - \$40	\$40 (forty dollars)	30,000 prizes
10 - \$5	\$50 (fifty dollars)	30,000 prizes
4 - \$10 + 1 - \$10	\$50 (fifty dollars)	15,000 prizes
1 - \$50	\$50 (fifty dollars)	15,000 prizes
20 - \$5	\$100 (one hundred dollars)	30,000 prizes
9 - \$10 + 1 - \$10	\$100 (one hundred dollars)	15,000 prizes
1 - \$100	\$100 (one hundred dollars)	15,000 prizes
20 - \$10	\$200 (two hundred dollars)	6,250 prizes
10 - \$20	\$200 (two hundred dollars)	5,625 prizes
1 - \$10 + 2 - \$20 + 2 - \$50 + 1 - \$50	\$200 (two hundred dollars)	5,625 prizes
4 - \$50	\$200 (two hundred dollars)	5,625 prizes
1 - \$200	\$200 (two hundred dollars)	5,625 prizes
15 - \$20 + 4 - \$50	\$500 (five hundred dollars)	1,250 prizes
10 - \$50	\$500 (five hundred dollars)	1,250 prizes
6 - \$50 + 1 - \$100 + 1 - \$100	\$500 (five hundred dollars)	1,250 prizes
5 - \$100	\$500 (five hundred dollars)	1,250 prizes
1 - \$500	\$500 (five hundred dollars)	1,250 prizes
20 - \$50	\$1,000 (one thousand dollars)	500 prizes
10 - \$50 + 5 - \$100	\$1,000 (one thousand dollars)	500 prizes
4 - \$200 + 1 -\$200	\$1,000 (one thousand dollars)	300 prizes
1 - \$1,000	\$1,000 (one thousand dollars)	300 prizes
20 - \$500	\$10,000 (ten thousand dollars)	100 prizes
1 - \$10,000	\$10,000 (ten thousand dollars)	100 prizes
1 - \$50,000 + 1 - \$50,000	\$100,000 (one hundred thousand dollars)	3 prizes
1 - \$100,000	\$100,000 (one hundred thousand dollars)	3 prizes
1 - \$1,000,000	\$1,000,000 (one million dollars)	4 prizes
Total value of all prizes* \$44.715.0	00	

Total value of all prizes*: \$44,715,000

Prize payout: 74.53% Overall odds: 1 in 3.01

Prizes subject to prior sales.

SECTION 8. Applicable rules: Indiana Administrative Code: 65 IAC 4-205 Validation of Tickets.

SECTION 9. The last day to claim a prize in "Scratch-Off Game Number 800, \$1,000,000 Silver Spectacular" is sixty (60) days from the end of the game.

LSA Document #06-62(E)

Filed with Secretary of State: February 3, 2006, 1:00 p.m.

^{*}The number and total value of prizes in this game are based on a print quantity of approximately three million (3,000,000) tickets. Should the print quantity be changed for production of this game or subsequent reorders, the ratio of prizes and total value of all prizes to print quantity will be proportionately maintained and the overall odds and prize payout percentage will remain the same.